w3 e
[ I Ll Y YA

928

2022
T

( Hindi and English Versions )

BERRRER: B ES Cor [ g : 70
e : m%lsﬁ%ﬁ&rﬁﬁaﬁm—
T3 %
for Fruffe & | B
Note :

First‘ 15 minutes are allotted for the
candidates to read the question paper.
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There are seven questions in all in
this question paper.

All questions are compulsory.

In beginning of each question, 1t has
been clearly mentioned that how
many parts of it are to be attempted.
Marks allotted to each question are
mentioned against it.

Start from the first question and go
up to the last question. Do not
waste your time on the question you
cannot solve.

Write the solution on pages of both
sides of answer-book. Write the
steps of solutions of all questions
except Question No. 1.:

If you need place for rough work, do
it on left page of your answer book
and cross ( x ) the page. Do not write
the solution on that page.
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Do not rub off the lines constructed
in a question of construction. Do
write steps of construction in brief,
if asked.
Draw neat and correct figure in
solution of a question wherever it is
necessary, otherwise in its absence
the solution will be treated
incomplete and wrong.
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R x oy @ x+ y =2 FEEM
i) x=0,y=2
i) x=2,y=0
i) x=4,y=2
iv) x=-2,y=0

¥) 198 9d% @
i)y 3 ¥1] 5
iii) 8 iv) 9

%) Ik feet S=RAl S @ A 20-5 T
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iv)
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Do all the parts :

Four alternatives of the answer of each part
are given, out of which only one is correct.

Pick out the correct alternative and write it
in your answer-book :

a)  The sum of roots of the equation
5x* -3x+2=0 will be

) 3 i) 3
1 — ——
5 ! S
i) 2 , 2 |
iii) — _Z
5 M -3
b) If 3cotA=4, then the value of sec A
will be
) 3 i) 5
iy - i) -
4 4
L 2 3
i) — ) — 1
3 2
¢} The solution of equations
x-y=2 and x + y = 2 will be
ij x=0,y=2
i) x=2,y=0
i) x=4,y=2
v) x=-2,y=0 1

d) The mean of natural numbers from
1 to 9 will be
i)y 3 i 5
i) 8 iv) 9 . 1
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If the mean and median of a
frequency distribution are 205 and
20 respectively, its mode will be

) 215 i) 17
iii) 19 iv) 205 1
) In the given figure, PQ 18 drawn
parallel to base BC of a triangle ABC.
If PQ : BC=1: 3, the ratio of AP and
PB will be
A
P Q
B C
] 1:4 i) 1:3
i) 1:2 iv) 2:3 1
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M 10 A & R F A 4565 l :
_ @) fmffiea grol & w7 ST :
& TR T ATESA 7 HfAC | 1
Cullc NG 0-10 10-20 | 20-30
g) aRk fum e 2x? -5x+k=0 & A
] AT 7 12 18
TR & dl k 1 HE T HIY 1 .
2. Do all the parts : ) 30-40 40-50 50-60
a) If 15 is the mean of 27, 23, x— 4, x + 4, 15 10 3
15, 3 and 7, find the value of x. 1 ’ | 2
b) The height of a tower is 20 m and M FHE x? - 7x+12=0 Q?Tl‘tﬁﬁaiﬁﬂﬁ '
2043 m is the length of its shadow on 1 ATHS T HIAT _. o
the ground. Find the angle of elevation . '
H m : mﬁ .
of the sun. 1 ) w Bs%lﬂﬁ{a?ﬁw@l
c¢) The mean of weights of 10 men is Bt dEm & EIR-‘I#?I_S ﬂﬁFﬁ %, at dEnd
45-65 kg Find the sum of their | T FHT _ )
weights. . 1 3. Do all the parts - :
d) If the quadratic equation _

) ) 1 - 9 a) Two cubes each of volume 64 cm3are
2x* -Sx+k=0 has equal roots, then joined end to end to form a cuboid
find the value of k. 1 Find the total surface .area of thé

' ~ resulti i -
3. Wit Gus ST : o ing cuboid. g
* ‘ \ ind the median from the following
B 2 g fed R TAF F AW 64 WA E, l_‘table: ,
. Class-interval . :
¥ To Gl bl R T S SR | quum:a 0 ?10 1020 | 20.30
T 3| TER W TN S IO SR & ]
o 10 3
_ 2
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9 822(BA)
¢) Find the sum of reciprocals of the roots
of equation x?-7x+12= 0. 2
d) The sum of two numbers is 85. If the
larger number is 5 more than four
times of the smaller number, find the
numbers. B : 2
wvft wve Fife

) kmmmﬁmmmm

2x+ky=1 3 3x-Sy=7 7 T ey

LSS 2

Q) Ww%wﬁﬁm::.sﬁam
St 12 ¥ ¥ vip A fedw S o

AFTH A ey . 5
T A tan A = cot B A fag Fwm fr
A+ B=90°, 9

o) ﬁﬁﬂﬁﬁwﬁmaﬁﬁq’aﬁm@
@Wm%mw%ﬁ:(g,_;”%w
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b) The radius of base of a cone is 3-5 cm
and height 12 cm. Find the slant

height and volume of the cone. 2
¢) If tan A = cot B, then prove that
A+ B=90° 2

d) Find the coordinates of A, where
AB is the diameter of a circle whose
centre is ( 2, - 3 ) and the coordinates

of Bare (1, 4). 2
wft @ FifC .
%) fog T % (2+43) T e den
. 4
® A cosﬁ=%, ol (sinBcosO +tan® @) &
TH T Fif | 4
™ H&ﬁfc;(a,o;(o b]ﬁ‘lﬁ[l -1)Wg
ﬁfﬁfﬂzaﬁm_-__1 4

) ﬁm%ﬁaaaﬂmmwcrﬁ@fw-qmma
258 :

Bﬂ; (1, 4}?” 5 mtaﬁ'? - 0-10 10-20
Do all the parts : Ferenierrt =% e 6 f
a)  Find the value of k for which the |
equations 2x+ky=1 and 20-30 30-40 40-50
3x -5y =7 have unique solution. 2 6 10 >
- 4
63562
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11 822(BA)

S. Do all the parts :

a)

Prove that (2++43) is an irrational

number, 4
4
b) If cosD:E, find the value of
(sinBcosO+tan? @) 4
c) Ifpoints(a, 0)(0,b)and(1,-1)are
1 1
collinear, then prove that ———=1.
a ;

d) Find the value of f from the following
frequency tablg if 25 is the mean of
marks obtained by the students.

Marks obtained 0-10 10-20

Number of students 6 f

- 20-30 30-40 40-50
6 10 5
' 4
6. W @ MY :

v H) Th TG SRR 39 % SR 3R
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& d AABC ~ AAPQ d

afz

BC = 8 &M, PO = 4 WA, BA = 6-5 9,
Ap- 2.8 W0 A cA 3T AQ Ft FaTs T

it |

4

m @ s T e & e W Ao ¥
FE % ¥ H TWER e § TE ¥
& e ¥ 27 I @ S &1 WA

)
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Do all the parts :

a)

b)

63562

A solid is in the form of a cylinder with
hemispherical at both ends. The total
length of the solid is 30 cm and the
diameter of the cylinder is 14 cm.
Find the total surface of the solid.

22
[Usen=7} 4

In the figure, AABC ~ AAPQ.

If BC = 8 cm, PQ = 4 cm,
BA = 65 cm, AP = 2-8 cm then find

the lengths of CA and AQ.
P

C

4 .

The sum of two digits of a two digit
number is 9. The number obtained by
interchanging the digits exceeds the
given number by 27. Find the number.

4
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d) A bird is sitting on a 80 m h.igh. tree.
The angle of clevation of the bird is 45°
from a point on the ground. The bird
is flying horizontally such that its
height from the ground remains the
same. After 2 seconds the angle of
elevation of the bird from the same

point is 30°. Find the speed of the
flying bird. ( Take ¥3=1-732) 4

7. it @vg w

F) T WS 63 fEi ® T fee Ffvem
sga o ¥ 79 FXat € R TR 72 fe
& QO IRfE 9 | 6 Tl /aver s
g I ¥ T Fa €1 A T G FE
39 ¥ 7 #t T 2, a IRAYE R =l

o ? 6
Foqar

Fr=fefag gt = & Sif9g

S .4 _

x-1+y_2"3

6 3 _

x-1 y_-2_1 6
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@) T frge ditay frEe s 5 @, 6 O

a7 A ¥ Bk o uw s Frds W

Fifo forgat qomd et a3 Frge  E

gmaﬁaﬁ%ﬁ%ﬂ o 6
Al

1% wiEag B ABC ¥ ST AB = T

AC T g B ¥ T AC R BD & ¢

‘ngaﬁﬁm%,ac%zné.pc. 6

7. Do all the parts :

a)

63562

A train travelled 63 km at a uniform
speed and then travelled -72 km
distance at the speed of 6 km/hr more
than its initial speed. If the total

journey is travelled in 3 hours, find its

initial speed. . 6
OR
Solve the following equations :
5] 4

.1c—1““y~-2_3

6 __3 | .

x-1 y-2 6
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Draw a triangle whose sides are 5§ o
6 cm and 7 em respechively and thep

construet another triangle whose sjdes
are 3 of the corresponding sides
5 - . - I It (,F) {)f the

first triangle. 6

OR

In an isosceles

triangle  ABC,
AB = AC and BD is perpendicular on

AC from the point B.

Prove that BC2=2AC.DC. 6
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